q
c

b T

- PBecHh

lim Eﬂ

= an/SLka
R ®NU L . nlv_n
c: beh = "ech = /\ /BEWO=>|7:rL_nhmE cst folg
1<<k
= :Slimri;‘1
rrn
k
"rk“:L_
k
tERO=E>0<8t
t
mk—[%]ést—w<mkwgst%mkwwst

k

T

= }c’emk:mkkbe:mkbkbkevﬂﬁe ETE =% = E'fﬁ



h Eh

lin

befR =St =teceh NV=lipeh NU

diff ¥ = tptp|e b =0

1/
~ 0 ;. e ’ 4
b Z(s@\‘@)>4u>4/=>1/—k"”% = P g = (l’il’>+@=|7 +F
1/ /1/ i ! ! I
L b nin:»+» —kbnl/_knw»“}“bjub —b+F R
1k 1/k 1K, -

F Dfe¢>3¢cenbhd = F 2 E"We

5 Re not e-nbhd = \/ fe ¥ h, e
h, €T
h =F~% > (w’) Ve €T diffco at ¢ = h, = "retre
B ok, 0
Pk, N0k, £0

m—n

OE b, b €T

-1

Fre = (%) h,eRh NU—=b "¢/ nU—=F ek nb =04

&
Atlas /\ K P AR "We . [ AR
het ml—>h m/z/

—F e KM



